RC

132 1% 3L i B B 3% i K 6L
[Bl4E 43 SLoME T

- pSLAIEEE LT - EHTENUCNCEER -
- ojIMERBEESXNEBELREL - ERR
F INERRE LI B B

SERN K PO KBIFEK -

- BB I EA RS E MU RN ETITREZES -

AR

EZEER- R

2

AT

AUTOGRIP MACHINERY

EEEAR- R

p

cm
RC=85 43.8
RC-100 65.6
RC-125 109.8
RC-145 1522
RC-200 2793

2-R #5@FLA B

TREE A E A

cm

48] 20
64.4 20
108.5 25
143.9 30
273.6 35

6~L1
_10_ -l
]
i
i \
© ey W
ol 4 3 I
o) ! a! — 1
1
Q1 | |5
: 'Dr
RC3/8" #iHH _23.5__
< Q- -P- '
| 62 | J
A B ..Dr

TS B =eEAESN
min”'(rp.m.) MPa(kgf/cm?)

5000 3.5(35) 0.01 6.8
5000 3.5(35) 0.02 9.2
5000 3.5(35) 0.03 Nl
5000 3.5(35) 0.03 14.6
4000 4.0(40) 0.26 355

-L2--

| - i

s = | 5 ]
AIDRE T ;
B: St 7%
K

Z r
i o~
', 5386888

4 1 '
J M1
- N -
!
' '
H -
G1

I T T e e T P T S S N R Y S E N N A
RC-85 85 20 120 116 100 65 30 45 25 28 8 70 150 M20x1.5 6~M8x75 125 205 10 40 14 4 3 RC3/8 31 M4x10 48 Mbx9
RC-100 100 20 135 131 15 80 40 45 25 28 8 72 158.5 M30x1.5 6~M8x75 12.5 32 10 50 14 4 3 RC3/8 31 M4x10 48 M5x9
RC-125 125 25 160 156 140 110 40 50 25 33 8 78 164 M30x1.5 6~M8x80 1 32 10 50 14 4 3 RC3/8 31 M4x10 48 Mbx9
RC-145 145 30 187 183 165 10 50 55 25 38 8 895 169.6 M40x1.5 6~M10x90 18 42 12 57 14 4 3 RC3/8 31 M4x10 48 MbBx9
RC-200 195 35 257 257 225 120 bb 73 38 b1.b 16.5 120 2225 M36x4.0 6~M16x130 26 38 12 65 15 6.5 4 RC1/2 35 M4x10 60 Mbx11
 IIEARSOIEFELZ®EWS -

o O3EFEATSERIMINNZEE -
s FHZRTERTIESHKAT] -
WWW. AUTOGRIP-MACHINERY.COM AUTOGRRIP


https://www.autogrip-machinery.com/proimages/products/Rotary-Cylinders/JOINT_BRACKET/RC_img.jpg

